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Problem 1
Build module pktmux (slide 16). Include in your solution:

1. the script file, ”run pktmux.txt”
2. a testbench generating inputs as in the timing diagram bellow

pad pkt

zero pkt

mgln pkt

pkt rand rand rand rand rand rand rand rand rand rand rand rand rand

msg len rand rand rand rand rand rand rand rand rand rand rand rand rand

For generating 64-bit random values, use the Verilog task bellow:

1 t a s k urand64 ( output r eg [ 6 3 : 0 ] r ) ;
2 beg in
3 r [ 63 :32 ]= $urandom ;
4 r [ 31 : 0 ]= $urandom ;
5 end
6 endta sk

To use the above task, call it by: urand64(msg len);
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Problem 2

Build module regfl (slides 14-15). Include in your solution:

1. the script file, ”run regfl.txt”

2. a testbench generating inputs as in the timing diagram bellow

clk

rst b

we

s rand rand rand rand rand rand rand rand rand rand rand rand rand

d rand rand rand rand rand rand rand rand rand rand rand rand rand

For generating 64-bit random values, use the urand64(); Verilog
task.
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Problem 3

Build module sha2indpath (slides 12-13). Include in your solution:

1. the script file, ”run sha2indpath.txt”

2. a testbench generating inputs as in the timing diagram bellow

clk

rst b

clr

st pkt

pad pkt

zero pkt

mgln pkt

pkt rand rand rand rand rand rand rand rand rand rand rand rand rand
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© 2024 Opriţoiu Flavius. All Rights Reserved.


